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ux|∂Ω = � , t > �
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(Δx)� .

���Y��� _�� ����( t�E �
 �� ρneiξm ���; ���5�/,)�< ��



e�G9�0 T�U �Q#

ρneiξm(ρ−�)
Δt

= −ν
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 �) vnm = ρneiξm �
�8'��� ��/9 ���\5���9 ��
?
���


ρn+�eiξm − ρneiξm

Δt
= − ν

�(Δx)� (ρ
n+�eiξ(m+�) −�ρn+�eiξm + ρn+�eiξ(m−�)

+ ρneiξ(m+�) −�ρneiξm + ρneiξ(m−�)).

?
���
 _�� ����( t�E �
 �� ρneiξm ���; ���5�/,)�< ��

ρneiξm(ρ−�)
Δt

= − νρneiξm

�(Δx)� (ρe
iξ −�ρ+ ρe−iξ + eiξ −�+ e−iξ).
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���Y��� #� �� ρneiξm �= � ���; t\� �� �)

ρ−�
Δt

= − ν

�(Δx)� (ρe
iξ −�ρ+ ρe−iξ + eiξ −�+ e−iξ)

?
/.��� �2�,$ _�� ����( �
 eiξ = cos ξ + i sin ξ ���/�
 ���Y��� %,<�5 ��) �� �� 	������ 7-
���

ρ−�
Δt

= − ν

�(Δx)� (ρ(� cos ξ −�) + (� cos ξ −�))

���Y��� �� #��
 cos ξ = �−� sin� ξ

� �(�L@L� ���Y��� K�A � �� �)

ρ = �+
−νΔt

�(Δx)� (−�ρ sin
�( ξ�)−� sin�( ξ�))

����
��� �� _�� ����
��� 	
�-����

ρ− �νΔt

(Δx)�ρ sin
�( ξ�) = �+

�νΔt

(Δx)� sin�( ξ�)

?
���
 u/< ���Y��� x[ 7A- �� ρ ���5 �/,)�< �� 	7-� ��� 
!

ρ(�− �νΔt

(Δx)� sin�( ξ�)) = �+
�νΔt

(Δx)� sin�( ξ�).

"�� �5�')��� ���Y��� u/< ���; �
 ξ = kπΔx � r =
Δt

(Δx)� ���\5���9 �� R�(�( %�� ��
? ��/p �� #/�@4�$ 3$��)

ρ =
�+�νr sin�(kπΔx

� )

�−�νr sin�(kπΔx

� )

rf	Hs

? *�S$� 
�!
 ��� �+p �� �� Δx rf	Hs ���Y��� �
 �5� 	������ 7-
���
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lim
Δx−→� ρ = lim

Δx−→�

�+�ν Δt

(Δx)� sin�(kπΔx

� )

�−�ν Δt

(Δx)� sin�(kπΔx

� )

= lim
Δx−→�

�+�ν Δt

(Δx)� × (kπΔx)�
� ×

sin�(kπΔx

� )

(kπΔx)�
�

�−�ν Δt

(Δx)� × (kπΔx)�
� ×

sin�(kπΔx

� )

(kπΔx)�
�

=
�+ ν(kπ)�Δt

�
�− ν(kπ)�Δt

�
.

?*�S$� 
�!
 ��� �+p �� �� Δt :ρ ∼

�+ ν(kπ)�Δt

�
�− ν(kπ)�Δt

�
#� �
 �) β =

ln |ρ|
Δt

���; �
 �5� #/')�

lim
Δt−→�β = lim

Δt−→�

ln |
�+ ν(kπ)�Δt

�
�− ν(kπ)�Δt

�
|

Δt

= lim
Δt−→�

ln |�+ ν(kπ)�Δt

� | − ln |�− ν(kπ)�Δt

� |
Δt

=
�
� .

?
�')��� *
�+,-� ��� ��/p �� K�,��/! ��*� �6 �� u/< �� i�8�� k<� ����

lim
Δt−→�β = lim

Δt−→�

�
�ν(kπ)�

�+
ν(kπ)�Δt

�
− lim

Δt−→�
−�
�ν(kπ)�

�− ν(kπ)�Δt

�
= ν(kπ)�. rG	Hs

#/�@4�$ 3$��) "�� ���� o�6
 �5�')��� ���Y��� �� � o�6
 �.� 7 �- rG	Hs ���Y��� ��
�
 r%�4(s 
��T��$ �.� 3� �5�')��� ���Y��� r >

�
�ν ���� #/�@4�$ 3$��) "�� �
 	
��/5���

?
��
 ��� ��/p �� k = ku
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ku =
�

πΔx
arcsin(

Δx√�νΔt
). re	Hs

�+p �� ����� �� rf	Hs �5�')��� ���Y��� ��) ��V� 7-� �<�) :R@Y� %�� #
�
 #��$ ����
���Y��� ��/p %�� �
 :
�!
���6

�−�ν Δt

Δx� sin
�(kπΔx

� ) = �
���Y��� K
����/E �� �� �

Δx�
�νΔt

= sin�(kπΔx

� )

?
���
 u/< ����( t�E �
 �� %,<�5 �\9�� 	������ 7-
���

Δx√�νΔt
= sin(

kπΔx

� ).

? ���; _�� ���Y��� t�E �
 �� sin−� k��( K�A � ��

kπΔx

� = arcsin(
Δx√�νΔt

)

���� �� �5�')��� ���Y��� 
��T��$ �.� �\� � ������ 7-
���
ku = k =

�
πΔx

arcsin(
Δx√�νΔt

)
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/.��� ����O� CN� �@��� "�� �
 ���� �@��� �! �
 #�4� �

	�$��*�. 
-� log − log ��/p �� �.� 7 �- y�1�
�� r >

�
�ν ���� ��Δt = ��−� � Δx = ��−� �� �z�',� CN "�� ���� �
� �5�')��� ��
/A$

�;��O( �/� 
� �5� �) �!
��� #��$ �! �4. %�� 	�!
��� #��$ �� k = ku �
 #
/� %�4( D/=�
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